Pre-Calculus  11    Chapter  3   Word  Problems
1. A set of fenced-in areas, as shown in the diagram, is being planned on an open field. A total of 900 m of fencing is available. What measurements will maximize the overall area of the entire enclosure?
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2. What is the maximum total area that 450 cm of string can enclose if it is used to form the perimeters of two adjoining rectangles as shown?
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3. A parabolic trough is a solar-energy collector. It consists of a long mirror with a cross section in the shape of a parabola. It works by focusing the Sun’s rays onto a central axis running down the length of the trough. Suppose a particular solar trough has width 180 cm and depth 56 cm. Determine the quadratic function that represents the cross sectional shape of the mirror.
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4. The manager of a clothing company is analysing its costs, revenues, and profits to plan for the upcoming year. Last year, a certain type of children’s winter coat was priced at $40, and the company sold 10 00 of them. Market research says that for every $5 increase in the price, the manager can expect the company to sell 100 less coats.

